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5. AttemPt ry$; c!'the fotlowing:

v.{ Explain rhq}uiscs oIniaii transfer

b. W'i'i it+lg=i"le oi \lessage Acces:i Ageot? Hor'v does PoP3 work')

\,.x:-Wnarfr'Yhiconcetr'tofMllv'IE?Explainit!format'
d' Ho{do you cor:presri an audio? Explain'

1. ffi'*p, unY thr|ol the roilowi;'7:

-;rr*SCor:rpare 
rhe [Pv4 an{I}.v6 optiorrs-

-oY_wh;iaretherypesr'r1linksinosl!?Explaineachincletail.

,. k. ',Vbat are tie optiorrs a','ailable in ''CP? Explarn each with iti packet icr-mat'

.*-r'a L)raw and expl:ii. DI{CP clienr str,ifl trarisition dia.gfarn,

du*t Y Hl:XT;::ilHi::il[HJI*1audic/r,:.ieo using a web serv'er and using a media server?

. t " ExPiain

, u?"

Attempt anY lP, di ihe

Write a note Ni.rT"
in deiait tht:Explain

the trvo

of SSH.

that IjTP client and server uses to communicate with each other?

non-persistelce connection of HTTP
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Expiain aul' one of i.ts tbrmat.

two nodes'l ExPiain

AttemPt SrlW of the followiug:
Explain thc Packet lormat of ATlviABP.

I-ist the eror repofiing rIlessages i! LrililP?

What is the inefficiencY in mobile IP'l Explain witir the

Horv llellrnan-Forrl algoqithm helPs to hpd least
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Attempt gnl wg-of the fololYiug:
Er.plain in Cetail LiDP Package'

V&nt is the neetl of queues ic LIDP? Expiain'

Exolail N'.:n:ber-ng system used ir: ICP'

E*ut ain hait'-cl..rse o i TCP'


